	Set A
	Set B
	Set C

	
1) 555 ÷ 5 =

2) 484 ÷ 4 =

3) 604 ÷ 2 =

4) 287 ÷ 2 =

5) 487 ÷ 4 =

6) 559 ÷ 5 =

7) 9362 ÷ 3 =

8) 4803 ÷ 4 =

9) 9536 ÷ 3 =

10) 7677 ÷ 7 =

11) 5384 ÷ 8 =

12) 9856 ÷ 6 =

13) 8026 ÷ 6 =

14) 7034 ÷ 9 =

15) 6650 ÷ 6 =

16) 7896 ÷ 7 =

17) 3028 ÷ 8 =

18) 3856 ÷ 3 =
	
1) 3823 ÷ 11 =

2) 7834 ÷ 12 =

3) 7213 ÷ 15 =

4) 3375 ÷ 20 =

5) 8025 ÷ 17 =

6) 2437 ÷ 16 =

7) 4840 ÷ 22 =

8) 4850 ÷ 45 = 

9) 5638 ÷ 30 =

10) 52343 ÷ 15 =

11) 23454 ÷ 12 =

12) 82354 ÷ 14 =

13) 70210 ÷ 40 =

14) 59214 ÷ 57 =

15) 22963 ÷ 86 =

16) 74143 ÷ 34 =

17) 71012 ÷ 92 =

18) 40333 ÷ 77 =
	
Find a) 10% and then b) 5% of each amount
1) 56

2) 69

3) 896

4) 326

5) 886

6) 3803

7) 3876

8) 3098

Find a) 1% and then b) 2% of each amount
1) 654

2) 896

3) 3987

4) 32

5) 600

6) 5643

7) 82

8) [bookmark: _GoBack]690



